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1. Beraucynre: B) sin® — tg 3T";

a) cos 5m,
3
r)tgn ctg% + cos % sin (—2—;);
5m),

o te (- 1) sin 150° — cos 720° + tg 225°.

2. Vopocture BrIpaskeHme ctg? t(—l + m: )

3. Pemure ypaBHeHue:

V2
a)cost= 2 3n )=_l'
2’ 6) cos ( 2 +t 2
4. OmpefiesiuTe 3HAK YHCJIA:
a) sin %; 6) cos 5_7n
5. MsBecTHO, uTO Sin t = —i—?, n<t< 3—2"

Bseryucaure cos t, tgt, ctgt.
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6. UssectHo, uTo tg (T — t) = riad %’t <t<2nm
Haiigure:

a) sin (g - t); 6) sin (n + t).

7. Pacronioskute B IOpsAAKe BOSPACTAHMA CJIeAYIOMUe UMCIIA:
a =sin9,5; in 7,5; ¢ = cos 7,5; d = cos 9.
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sin (m - t) + cos (3—2" + tj > -\/5,




